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Chapter 9 Quiz Review
Advanced Algebra
1.  Suppose that x and y vary inversely, and x = 1.2 when y = 3. 

1.  _____________________

     Write the function that models the inverse variation.
2.  Is the relationship between the variables in the table a direct 

2.  _____________________

     variation, an inverse variation, or neither?  If it is a direct or
     inverse variation, write a function to model it.

	x
	3
	8
	10
	22

	y
	15
	40
	50
	110


3.  The values (3, 7) and (8, y) are from an inverse variation. 

3.  _____________________
     Find the missing value y.





4.  The force F of gravity on a rocket varies directly with its 

4.  _____________________
      mass m and inversely with the square of its distance d from

      Earth.  The force of gravity was 10 Newtons when the mass 
      is 5 kilograms and the distance from Earth is 2 meters.  
      Determine the force of gravity in Newtons when the mass is 
      4 kilograms and the distance from Earth is 8 meters.      
5.  Given 
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5.  
6.  Write an equation for the translation of 
[image: image2.emf]


y = 5
x










y

=

5

x

 that has 


6.  _____________________

     asymptotes at x = -4 and y = -8.








7.  Find any points of discontinuity for 
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7.  _____________________
For Questions 8 – 10, identify any holes or vertical asymptotes or horizontal asymptotes of the graphs.

8.  
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8.  HOLES:  _____________










VA:  ___________________











HA:  ___________________
9.  
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9.  HOLES:  _____________











VA:  ___________________











HA:  ___________________
10.   
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10.  HOLES:  ____________











VA:  ___________________











HA:  ___________________
For Questions 11 – 12, simplify and state any restriction on the variable.
11.  
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11.  ____________________










REST:  _________________
12.  
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12.  ____________________











REST:  _________________

In 13 – 15, multiply or divide and state any restrictions on the variable.
13.  
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13.  ____________________










REST:  _________________
14.  
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14.  ____________________











REST:  _________________

15.  
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15.  ____________________










REST:  _________________
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